

The gauge theory's expansion in the Electro-Magnetic field

Sangwha Yi

Department of Math , Taejon University 300-716

ABSTRACT

In the special relativity theory, study the gauge theory in the Electro-magnetic field theory. Using that the Electro-magnetic potential is 4-vector, treat invariant potential. And the Electro-Magnetic field theory's the gauge theory expand.

PACS Number:03.30,41.20

Key words:electro-magnetic potential,4-vecter,the gauge theory

e-mail address:sangwha1@nate.com

Tel:051-624-3953

I.Introduction

In the special relativity theory, Electro-magnetic potential (ϕ, \vec{A}) is 4-vector likely time-space.

$$\vec{E} = -\vec{\nabla}\phi - \frac{\partial \vec{A}}{c\partial t}, \quad \vec{B} = \vec{\nabla} \times \vec{A} \quad (1)$$

$$\left(\frac{1}{c^2} \frac{\partial^2}{\partial t^2} - \nabla^2\right) A^\alpha = \frac{4\pi}{c} j^\alpha = \frac{4\pi}{c} \rho_0 \frac{dx^\alpha}{d\tau} \quad (2)$$

$$\frac{1}{c} \frac{\partial}{\partial t} = \gamma \left(\frac{1}{c} \frac{\partial}{\partial t'} - \frac{\vec{v}}{c} \cdot \vec{\nabla}' \right), \quad \vec{\nabla} = \vec{\nabla}' - \gamma \frac{\vec{v}}{c} \frac{1}{c} \frac{\partial}{\partial t'} - (1-\gamma) \frac{\vec{v}}{v^2} \cdot \vec{\nabla}' \vec{v} \quad (3)$$

$$ct = \gamma(ct' + \frac{\vec{v}}{c} \cdot \vec{x}'), \quad \vec{x} = \vec{x}' + \gamma \frac{\vec{v}}{c} ct' - (1-\gamma) \frac{\vec{v} \cdot \vec{x}'}{v^2} \vec{v} \quad (4)$$

$$\phi = \gamma \left(\phi' + \frac{\vec{v}}{c} \cdot \vec{A}' \right) \quad (5)$$

$$\vec{A} = \vec{A}' + \gamma \frac{\vec{v}}{c} \phi' - (1-\gamma) \frac{\vec{v} \cdot \vec{A}'}{v^2} \vec{v} \quad (6), \quad \gamma = 1 / \sqrt{1 - \frac{v^2}{c^2}}$$

II.Additional chapter

An inertial coordinate system S's Electro-magnetic potential (ϕ, \vec{A}) and the other inertial coordinate system S''s Electro-magnetic potential (ϕ', \vec{A}') 's the gauge transformation is

$$\phi \rightarrow \phi - \frac{1}{c} \frac{\partial \Lambda}{\partial t}, \quad \vec{A} \rightarrow \vec{A} + \vec{\nabla} \Lambda \quad (7)$$

Λ is a function of S

$$\phi' \rightarrow \phi' - \frac{1}{c} \frac{\partial \Lambda'}{\partial t'}, \quad \vec{A}' \rightarrow \vec{A}' + \vec{\nabla}' \Lambda' \quad (8)$$

Λ' is a function of S'

Therefore, the formula (5), the formula (6) be used by the formula (7) and the formula (8)

$$\begin{aligned} \phi - \frac{1}{c} \frac{\partial \Lambda}{\partial t} &= \gamma \left\{ \phi' - \frac{1}{c} \frac{\partial \Lambda'}{\partial t'} + \frac{\vec{v}}{c} \cdot (\vec{A}' + \vec{\nabla}' \Lambda') \right\} \\ &= \gamma \left\{ \phi' + \frac{\vec{v}}{c} \cdot \vec{A}' \right\} + \gamma \left\{ -\frac{1}{c} \frac{\partial \Lambda'}{\partial t'} + \frac{\vec{v}}{c} \cdot \vec{\nabla}' \Lambda' \right\} \end{aligned} \quad (9)$$

$$\begin{aligned} \vec{A} + \vec{\nabla} \Lambda &= \vec{A}' + \vec{\nabla}' \Lambda' + \gamma \frac{\vec{v}}{c} \left(\phi' - \frac{1}{c} \frac{\partial \Lambda'}{\partial t'} \right) - (1-\gamma) \frac{\vec{v}}{v^2} \cdot (\vec{A}' + \vec{\nabla}' \Lambda') \vec{v} \\ &= \left\{ \vec{A}' + \gamma \frac{\vec{v}}{c} \phi' - (1-\gamma) \frac{\vec{v}}{v^2} \cdot \vec{A}' \vec{v} \right\} + \left\{ \vec{\nabla}' \Lambda' + \gamma \frac{\vec{v}}{c} \left(-\frac{1}{c} \frac{\partial \Lambda'}{\partial t'} \right) - (1-\gamma) \frac{\vec{v}}{v^2} \cdot (\vec{\nabla}' \Lambda') \vec{v} \right\} \end{aligned} \quad (10)$$

In this time, the formula (9) and the formula (10) be used by the formula (5) and the formula (6) and the

gauge function Λ and Λ' 's relation is

$$-\frac{1}{c} \frac{\partial \Lambda}{\partial t} = \gamma \left(-\frac{1}{c} \frac{\partial \Lambda'}{\partial t'} + \frac{\vec{v}}{c} \cdot \vec{\nabla}' \Lambda' \right) = \gamma \left(-\frac{1}{c} \frac{\partial}{\partial t'} + \frac{\vec{v}}{c} \cdot \vec{\nabla}' \right) \Lambda' \quad (11)$$

$$\begin{aligned} \vec{\nabla} \Lambda &= \vec{\nabla}' \Lambda' + \gamma \frac{\vec{v}}{c} \left(-\frac{1}{c} \frac{\partial \Lambda'}{\partial t'} \right) - (1-\gamma) \frac{\vec{v}}{v^2} \cdot (\vec{\nabla}' \Lambda') \vec{v} \\ &= \left[\vec{\nabla}' + \gamma \frac{\vec{v}}{c} \left(-\frac{1}{c} \frac{\partial}{\partial t'} \right) - (1-\gamma) \frac{\vec{v}}{v^2} \cdot (\vec{\nabla}') \vec{v} \right] \Lambda' \quad (12) \end{aligned}$$

In this time, it has to that the formula (3) coincide the formula (11) and formula (12) therefore it has to that a function Λ of S , coincide Λ' of S' , Hence $\Lambda = \Lambda'$.

Likely this upper case

$$\phi^2 - \vec{A} \cdot \vec{A} = \phi'^2 - \vec{A}' \cdot \vec{A}' \quad (13)$$

That the formula (13) be used by the formula (7), the formula (8) of the gauge transformation, be used by the formula(3), the formula (5), the formula (6) and the formula(11), the formula(12)

$$\begin{aligned} & \left(\phi - \frac{1}{c} \frac{\partial \Lambda}{\partial t} \right)^2 - (\vec{A} + \vec{\nabla} \Lambda) \cdot (\vec{A} + \vec{\nabla} \Lambda) \\ &= (\phi^2 - \vec{A} \cdot \vec{A}) - 2 \left(\frac{1}{c} \frac{\partial \Lambda}{\partial t} \phi + \vec{A} \cdot \vec{\nabla} \Lambda \right) + \left[\frac{1}{c^2} \left(\frac{\partial \Lambda}{\partial t} \right)^2 - \vec{\nabla} \Lambda \cdot \vec{\nabla} \Lambda \right] \\ &= (\phi'^2 - \vec{A}' \cdot \vec{A}') - 2 \left(\frac{1}{c} \frac{\partial \Lambda'}{\partial t'} \phi' + \vec{A}' \cdot \vec{\nabla}' \Lambda' \right) + \left[\frac{1}{c^2} \left(\frac{\partial \Lambda'}{\partial t'} \right)^2 - \vec{\nabla}' \Lambda' \cdot \vec{\nabla}' \Lambda' \right] \\ &= \left(\phi' - \frac{1}{c} \frac{\partial \Lambda'}{\partial t'} \right)^2 - (\vec{A}' + \vec{\nabla}' \Lambda') \cdot (\vec{A}' + \vec{\nabla}' \Lambda') \quad (14) \end{aligned}$$

$$(\phi^2 - \vec{A} \cdot \vec{A}) = (\phi'^2 - \vec{A}' \cdot \vec{A}'), \quad (15)$$

$$\left(\frac{1}{c} \frac{\partial \Lambda}{\partial t} \phi + \vec{A} \cdot \vec{\nabla} \Lambda \right) = \left(\frac{1}{c} \frac{\partial \Lambda'}{\partial t'} \phi' + \vec{A}' \cdot \vec{\nabla}' \Lambda' \right) \quad (16)$$

$$\left(\frac{1}{c} \frac{\partial \Lambda}{\partial t} \right)^2 - \vec{\nabla} \Lambda \cdot \vec{\nabla} \Lambda = \left(\frac{1}{c} \frac{\partial \Lambda'}{\partial t'} \right)^2 - \vec{\nabla}' \Lambda' \cdot \vec{\nabla}' \Lambda' \quad (17), \quad \Lambda = \Lambda'$$

The formula (13) is invariant by the formula (14) about the gauge transformation, the formula (7), the formula (8). The formula (13) is invariant about the special relativistic transformation. Therefore, it thinks an invariant Electro-Magnetic potential $\bar{\phi}$ likely the coordinate system's the invariant time.

$$\bar{\phi}^2 = \phi^2 - \vec{A} \cdot \vec{A} = \phi'^2 - \vec{A}' \cdot \vec{A}' \quad (18)$$

In the formula (2), Electro-Magnetic potential A^α transform likely the differential coordinate dx^α

$$d\tau^2 = dt^2 - \frac{1}{c^2} (d\vec{x} \cdot d\vec{x}) \quad (19)$$

$$d\tau^2 = dt^2(1 - \frac{u^2}{c^2}), \quad \frac{d\bar{x}}{dt} = \bar{u} \quad (20)$$

$$\bar{\phi}^2 = \phi^2(1 - \frac{u^2}{c^2}), \quad \bar{\phi} = \phi\sqrt{1 - \frac{u^2}{c^2}} \quad (21)$$

$$\frac{\bar{A}}{\bar{\phi}} = \frac{\bar{u}}{c}, \quad \bar{A} = \frac{\bar{u}}{c}\bar{\phi} \quad (22)$$

An example of the formula (22)'s potential is Lienard-Wiechert potential that made by moving point charge.[3,4]

In the inertial coordinate system and the other inertial coordinate system,

$$\bar{\phi}^2 = \phi^2(1 - \frac{u^2}{c^2}) = \phi'^2(1 - \frac{u'^2}{c^2}), \quad \frac{d\bar{x}}{dt} = \bar{u}, \quad \frac{d\bar{x}'}{dt'} = \bar{u}'$$

$$\frac{\bar{A}}{\bar{\phi}} = \frac{\bar{u}}{c}, \quad \bar{A} = \frac{\bar{u}}{c}\bar{\phi}, \quad \frac{\bar{A}'}{\bar{\phi}'} = \frac{\bar{u}'}{c}, \quad \bar{A}' = \frac{\bar{u}'}{c}\bar{\phi}'$$

$$d\bar{x} = d\bar{x}' + \gamma \frac{\bar{v}}{c} c dt' - (1 - \gamma) \frac{\bar{v} \cdot d\bar{x}'}{v^2} \bar{v}, \quad dt = \gamma(dt' + \frac{\bar{v}}{c^2} \cdot d\bar{x}')$$

$$\bar{u} = \frac{d\bar{x}}{dt} = \frac{1}{\gamma} \frac{\bar{u}' + \gamma \bar{v} - (1 - \gamma) \frac{\bar{v} \cdot \bar{u}'}{v^2} \bar{v}}{(1 + \frac{\bar{v}}{c^2} \cdot \bar{u}')}, \quad \bar{u}' = \frac{d\bar{x}'}{dt'}, \quad \bar{\phi} = \gamma(\bar{\phi}' + \frac{\bar{v}}{c} \cdot \bar{A}')$$

$$\bar{A} = \frac{\bar{u}}{c}\bar{\phi} = \frac{1}{\gamma} \left[\frac{\bar{u}' + \gamma \bar{v} - (1 - \gamma) \frac{\bar{v} \cdot \bar{u}'}{v^2} \bar{v}}{(1 + \frac{\bar{v}}{c^2} \cdot \bar{u}')} \right] \cdot \gamma \frac{1}{c} [\bar{\phi}' + \frac{\bar{v}}{c} \cdot \bar{A}'], \quad \bar{A}' = \frac{\bar{u}'}{c}\bar{\phi}'$$

$$= \frac{1}{\gamma} \left[\frac{\bar{u}' + \gamma \bar{v} - (1 - \gamma) \frac{\bar{v} \cdot \bar{u}'}{v^2} \bar{v}}{(1 + \frac{\bar{v}}{c^2} \cdot \bar{u}')} \right] \cdot \gamma \frac{1}{c} \bar{\phi}' \left[1 + \frac{\bar{v}}{c} \cdot \frac{\bar{u}'}{c} \right]$$

$$= \frac{\bar{u}'}{c} \bar{\phi}' + \gamma \bar{v} \frac{\bar{\phi}'}{c} - (1 - \gamma) \frac{\bar{v}}{v^2} \cdot (\bar{u}' \frac{\bar{\phi}'}{c}) \bar{v}, \quad \bar{A}' = \frac{\bar{u}'}{c}\bar{\phi}'$$

$$= \bar{A}' + \gamma \frac{\bar{v}}{c} \bar{\phi}' - (1 - \gamma) \frac{\bar{v} \cdot \bar{A}'}{v^2} \bar{v} \quad (23), \quad \gamma = 1 / \sqrt{1 - \frac{v^2}{c^2}}$$

According to the formula (22), Electro-Magnetic field is

$$\vec{E} = -\vec{\nabla}\bar{\phi} - \frac{\partial \bar{A}}{c \partial t} = -\vec{\nabla}\bar{\phi} - \frac{\partial}{c \partial t} \left(\frac{\bar{u}}{c} \bar{\phi} \right) = -\vec{\nabla}\bar{\phi} - \frac{\bar{\phi}}{c} \frac{\partial \bar{u}}{c \partial t} - \frac{\bar{u}}{c} \frac{\partial \bar{\phi}}{c \partial t}$$

$$\vec{B} = \vec{\nabla} \times \bar{A} = \vec{\nabla} \times \left(\frac{\bar{u}}{c} \bar{\phi} \right) = \bar{\phi} (\vec{\nabla} \times \frac{\bar{u}}{c}) - \frac{\bar{u}}{c} \times \vec{\nabla} \bar{\phi} \quad (24)$$

The formula (2)'s Electro-Magnetic potential equation is

$$\left(\frac{1}{c^2} \frac{\partial^2}{\partial t^2} - \nabla^2\right)\phi = \frac{4\pi}{c} j^0 = 4\pi\rho = \frac{4\pi}{c} \rho_0 \frac{dx^0}{d\tau} = \frac{4\pi}{c} \rho_0 \frac{cdt}{d\tau} = 4\pi\bar{\gamma}\rho_0$$

$$j^0 = c\rho, \quad \rho = \bar{\gamma}\rho_0, \quad \bar{\gamma} = \frac{1}{\sqrt{1 - \frac{u^2}{c^2}}} \quad (25)$$

$$\left(\frac{1}{c^2} \frac{\partial^2}{\partial t^2} - \nabla^2\right)\vec{A} = \left(\frac{1}{c^2} \frac{\partial^2}{\partial t^2} - \nabla^2\right)\phi \frac{\vec{u}}{c} = \frac{4\pi}{c} \vec{j} = \frac{4\pi}{c} \rho\vec{u}$$

$$\vec{A} = \frac{\vec{u}}{c} \phi, \quad \vec{j} = \rho\vec{u}, \quad \rho = \bar{\gamma}\rho_0, \quad \bar{\gamma} = \frac{1}{\sqrt{1 - \frac{u^2}{c^2}}} \quad (26)$$

By the formula (21), Electro-Magnetic invariant potential $\bar{\phi}$ is

$$\bar{\gamma}\bar{\phi} = \phi, \quad \bar{\gamma} = \frac{1}{\sqrt{1 - \frac{u^2}{c^2}}} \quad (27)$$

Therefore by the formula (25) and the formula (27), Electro-Magnetic invariant potential $\bar{\phi}$'s equation is

$$\left(\frac{1}{c^2} \frac{\partial^2}{\partial t^2} - \nabla^2\right)\bar{\gamma}\bar{\phi} = 4\pi\bar{\gamma}\rho_0$$

$$\left(\frac{1}{c^2} \frac{\partial^2}{\partial t^2} - \nabla^2\right)\bar{\phi} = 4\pi\rho_0 \quad (28)$$

III. Conclusion

About the gauge functions Λ and Λ' , by the formula (17)

$$\left(\frac{1}{c} \frac{\partial\Lambda}{\partial t}\right)^2 - \vec{\nabla}\Lambda \cdot \vec{\nabla}\Lambda = \left(\frac{1}{c} \frac{\partial\Lambda'}{\partial t'}\right)^2 - \vec{\nabla}'\Lambda' \cdot \vec{\nabla}'\Lambda' \quad (29), \quad \Lambda = \Lambda'$$

and Lorentz gauge is

$$\frac{1}{c} \frac{\partial\phi}{\partial t} + \vec{\nabla} \cdot \vec{A} = 0, \quad \frac{1}{c} \frac{\partial\phi'}{\partial t'} + \vec{\nabla}' \cdot \vec{A}' = 0 \quad (30)$$

Therefore the gauge functions Λ and Λ' is satisfied

$$\left(\frac{1}{c^2} \frac{\partial^2}{\partial t^2} - \nabla^2\right)\Lambda = \left(\frac{1}{c^2} \frac{\partial^2}{\partial t'^2} - \nabla'^2\right)\Lambda' = 0 \quad (31), \quad \Lambda = \Lambda'$$

Reference

- [1] A. Miller, Albert Einstein's Special Theory of Relativity (Addison-Wesley Publishing Co., Inc., 1981)
- [2] W. Rindler, Special Relativity (2nd ed., Oliver and Boyd, Edinburg, 1966)
- [3] David J. Griffiths, Introduction to Electrodynamics (2nd ed., Prentice Hall)

[4] John R. Reitz, Frederick J. Milford, Robert W. Christy, Foundations of ElectroMagnetic theory(3th ed.,)

[5] William H. Hayt, Jr, Engineering electromagnetics(5th ed., McGraw-hill, 1990)